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Sorry, Fact3! A method with the same name (method2) already exists!
Sorry, Fact3! A variable with the same name (methodl) already exists!

\_ true [ 2 ] ... "“~—- type should be 'int




O PUBLIC

O int
O ComputeFac
O (
O int
O num
Q)
O cLass Ot
O Fact VARIABLE DECLARATION O
MAIN_C o o EXTEWABLE’ DECLARATION O
CLASS_DECLARATION O O AncthAABLE DECLARATION-© O i
ROOT_NODE O
c DECLARATION © oY VARIABLE_DECLARATION O O yy_var3
CLASS_DECLARATION O METHOD_DECLARATION O O:
0} STATEMENT ©
Ofg
O =
STATEMENT O
EXPRESSION O
STATEMENT O
O;
STATEMENT O

STATEMENT O
STATEMENT O
STATEMENT O
O RETURN
O num_aux
O;
O}

5l 5 la i oyls K50 5K 6oy ) sl S i o ) QLA 5 a5 e o S 6y SUUSL
031> ioled o8 Kus Slis 5 (AL dls ub S1) ol ipl il o (i a3 5 SCOPE )3 45 s WSS

L g A



Of{

)D_DECLARATION O

O}

0)

Of{

VARIABLE DE Name:
VARIABLE_DECLARATION
Type: undefined
Scope

VARIABLE DECLARATION ©

STATEMENT O

rooT neName: ROOT_NODE 4 apatiol
Type: undefined
Scope
main
Type: class
Kind: class
Fact
Type: class
Kind: class
Fact2
Type: class
Kind: class
Fact3
Type: class
Kind: class
Fact4
Type: class (
Kind: class

LARATIOI

CLASS_DECLARATIOI



1] okl 0351 U g5 Ael$d el e Nonterminal Zes s

Rl

start
nullable: No
firsts: .
follows: $end

Productions: 1

initializer
nullable: No
firsts: .
follows: CLASS

Productions: 2

|lgoal

nullable: No
firsts: CLASS
follows: $end

Productions: 3

statement_list

nullable: Yes

firsts: {,IF,WHILE,SYSOUT,ID
follows: },RETURN

Productions: 4 5
statement
nullable: No

firsts: {,IF,WHILE,SYSOUT,ID
follows: {,IF,WHILE,SYSOUT,ID,ELSE,RETURN, }

Productions: 6 7 8 9 10 11
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PRODUCTIONS
Saccept -> start $end
start -> initializer goal
initializer -> .
goal -> main_class class_decl_list EOF
statement_list -> statement statement list
statement_list ->

statement -> { statement list }

statement -> IF ( expression ) statement ELSE statement
statement -> WHILE ( expression ) statement

statement -> SYSOUT ( expression ) ;

statement -> ID = expression ;

statement -> ID [ expression ] = expression ;

expression_list -> expression expression_comma_list
expression_list ->

expression_comma_list -> , expression expression_comma_list
expression_comma_list ->

expression -> expression & expression
expression -> expression < expression
expression -> expression + expression
expression -> expression - expression
expression -> expression * expression
expression -> expression [ expression ]
expression -> expression . LENGTH
expression -> expression . ID ( expression_list )
expression -> INTEGER_LITERAL
expression -> TRUE

expression -> FALSE

expression -> ID

expression -> THIS

expression -> NEW INT [ expression ]
expression -> NEW ID ( )

expression -> ! expression

expression -> ( expression )

type -> INT [ ]

type -> BOOLEAN

type -> INT

type_id -> ID ID

type_id -> type ID

type_id list -> type_id type_id_comma_list
type_id list ->
type id comma_list -> , type id type id_comma_list
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31

32 s40

33

34

35

36 s41

37 r36 r36 r36 r36

type_id -> ID ID . #lookaheads= ; ( ) , - Reduce by 36) type_id -> ID ID - Reduce by 36) type_id

38 r37 r37 37 r37

type_id -> type ID . #lookaheads= ; ( ) , - Reduce by 37) type_id -> type ID - Reduce by 37) type_id
istates $end &

0

Saccept -> .start $end #lookaheads= $end
start -> .initializer goal #lookaheads= $end
initializer -> .. #lookaheads= CLASS

;accept -> start .Send #lookaheads= S$end =
2
3
4 rl
- Reduce by 1) start -> initializer goal
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testO1.java

class one {

public static void main(String[] args) {

}
}

class two {

}

class three extends two {

Output:



test02.java

class one {
public static void main(String[] args) {
1f (args.length < 2)
System.out.println(l + 2 * 3);

else

{
args[@] = args[1];

}

class two {

}

class three extends two {

Output:



test03.java

class one {
public static void main(String[] args) {
i1f (args.length < 2)
System.out.println(l < 2 * 3);

else

{
args[0] = args[1];

}

class two {

}

class three extends two {
ks

Output:

System.out.println((1) < ((2) * (3)));
A~-- type should be 'int'



test04.java

class one {
public static void main(String[] args) {
i1f (args.length < 2)
System.out.println(l);
else

args[@] = args[1];

}

class two {
int a;
int[] b;
char c;

character a;

Output:

Sorry, two! A variable with the same name (a) already exists!



test05.java

class one {
public static void main(String[] args) {
¥

by

class two {
int x;
int y;
int[] z;

public int[] fun() {

y = z.length;

return vy,

public character fun2(int[] x) {

return x[true];

Output:

x [ true ]
A~-- type should be 'int'



test06.java

class one {
public static void main(String[] args) {
¥

by

class two {
int x;
int y;
int[] z;

public int[] fun() {

y = z.length;

return vy,

public character fun2(int[] x) {
return x[1 + 2<2 + 3];

Output:

x [+ @) <W2+GN1T ...
A~-- type should be 'int'



test07.java

class one {
public static void main(String[] args) {
}

¥

class two {
public int[] func() {
y = z.length;

return vy,

public character func(Q) {

return 0;

Output:

Sorry, two! A method with the same name (func) already exists!



test08.java

class one {
public static void main(String[] args) {
¥

by

class two {

int func;

public character func() {

return 0;

Output:

Sorry, two! A variable with the same name (func) already exists!



test09.java

class one {
public static void main(String[] args) {
¥

by

class two {

public character func() {

Output:

Error: Parse error on line 7:

...cO { x = 10; 1}

Expecting "RETURN', got '}



test10.java

class one {
public static void main(String[] args) {
¥

by

class two {
public character func() {
int x;
int y;
X =Y < true;

return Xx;

Output:

y < true

A~-- type should be 'int'



test11.java

class one {
public static void main(String[] args) {
¥

by

class two {
public character func() {
boolean x;
int y;
X = true && y;

return Xx;

Output:

true && y
A~-- type should be 'boolean'



testi12.java

class one {
public static void main(String[] args) {
¥

by

class two {

public character func() {

boolean x;
int y;
X=X -Y;
return Xx;
¥

¥

Output:

X -y

A~-- type should be 'int'



test13.java

class one {
public static void main(String[] args) {
¥

by

class two {
public character func() {
boolean x;
int y;
x = !(true);
x = ly;

return x;

Output:

|
©y
A~-- type should be 'boolean'



test14.java

class one {
public static void main(String[] args) {
}

¥

class two {
public int func(Q) {
System.out.println(this.func());
System.out.println(this.func2());

return 0;

public int[] func2() {
int[] res;

return res;

Output:

System.out.println((this).func2());
A~-- type should be 'int'



test15.java

class one {
public static void main(String[] args) {
}

¥

class two {
public int func(Q) {
System.out.println(this.func());
System.out.println(this.func2().length);

return 0;

public int[] func2() {
int[] res;

return res;

Output:



test16.java

class one {
public static void main(String[] args) {
¥

by

class two {
public int func() {

return 0;

}

class three {
public int func(Q) {

return 0;

Output:



test17.java:

class one {
public static void main(String[] args) {
}

¥

class two {
public int func(Q) {

return 0;

}

class three extends two {
public int func() {

return 0;

Output:

Sorry, three! Your parent class (two) already has a method named
func!



test18.java

class Factorial {
public static void main(String[] args) {
System.out.println(l);
if (1<2 && true)
alpha = b;
else {
System.out.println(1+2);

}
}

class Fact extends Another(Class {
public int func() {
return 0;

}

public int ComputeFac(int num) {
int num_aux;
booleana yy_var;
boolean yy_var?2;
int[] yy_var3;

ff = new int[10];
fg = true[2];
fg[l] = 2-3;
if (num < 1)
num_aux = 1;
else {
num_auxl = num * (this.ComputeFac(num-1));

num_aux2 = num * (this.ComputeFac(Cnhum-1));

}

num_aux3 = num * (this.ComputeFac(num-1));
while (this.length < 0)
if (num_aux < num)



num_aux4 = num * (this.ComputeFac(num-1));
else

y =1
System.out.println(1+2+3*4);

return num_aux;

}

class FactZ?2 extends Fact {
public int ComputeFac(int num, booool numssss, boolean bool)
{
int x;
return 0;

class Fact3 extends Fact {
bool x;
boolean y;
int methodl;
public int methodl() {

return 0;

ks

public int[] method2() {
return 0;

ks

public some_type method3() {
int zzz;
zzz = this.methodl();
return 0;

ks

public bool method2() {
return 1;

ks



class Fact4 extends Fact3 {
public int methodl() {
return 0;

}

Output:

Sorry, Fact3! A method with the same name (method2) already
exists!
Sorry, Fact3! A variable with the same name (methodl) already
exists!

true [ 2 ] ...
A~-- type should be 'int'
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